o0 O0O0OdOnd #80

3.3 Ubboooboboboooood

gboboogoboogobuogbbbbuoobbogboooo
gbobbboooobbboood

gobobooobooocboooboobbouooboobDod a=
V3+i00000000 00000 00000000000

DDDHDD(DDDDQ:%MM@+iDaDDDDDODDD
0000000000000

a:\/§+i

2 T V3 T 1
_= 2 et _— = — 1 e
la] =V V3 +12=2, cos 5 5 sine 5

gooobod

\/§+i:2cos%—|—2isin%:2<COS%+isin%>

gooo
O0bobooobooobob0bda=e+00000000000 «
OOoo0ooOobOoboboooboebbObOObDObDOeeOOODnO

056 <2m

0000010000 (08éd<2r00000000O0O0O0OOADO
00000 2kr (kezZ)DODOO0D0DO000000000O0O0O)OO
bbb -ogogd

a ) b .
cosf = —, sinfl=— <= a=rcosf, b=rsind
r r

goboboooob oogo

46



[ a=a+bi =r(cosf + isinf) ]

Ooboooboooooboooo b bDObDU a=a+bi0
Ooobobobodsd ea=e+0e000000D0

gobob 35 bDOOoooobboooon

(1) 1+iv3 (2) -2 (3) i (4) 2v3—2i (5) 1 —/3i

000000000000 000000000000000

[ e = cosh + isinf ]

0000000000 ®WOoOoOoOoooo0000000000000
gbobgolgboboobooboooboboobobuobooboobo
goboo

0000 XO00ODOODOOOO00OOo0oooooooo

exp X = e~
goboboboobobooobooobouoobooo

o) = g exp (—%)

00000000
000000000000600 —9000000cos(—0) = cos 60
sin(—0) = —sinf 00000

e = cosf —isinb

gboboboooobbodgd

gobb 3.6 0DOOOOOOO

(1)6”DDDDDDDDDDDD 100g0g0poogoooogogon
(2)DDDDDDDDDDDDDDDDDDD
et 4 =i ol _ o—if

0= —— inf =
cos 5 sin 5

0000 000000000000« 000000000
gboboboooobbobuooooboboboooon
oO0o00000000000000000000000000000000

oobooooboooboooboooooooobooooooo LIoboooogoo
gbooobooaood

47



00 3.4 0040000000000 0000000000

oo
€i916i92 — ei(01+92)

00 0000000 €% =cosf+isind0000000000
goo

eP1e®2 = (cosfy + isinb)(cos by + isin by)
= (cosf; - cosly —sinb; -sinby) + i(sin by - cos by + cos b - sin hy)

= cos(fy + 6;) + isin(6y + 62)

61(91 +92)

OoOooooooooooooon

00 3.5 [000000000)O00O0O0ODO0OODOOOOODODOO
O 000000000000000000O0000O0000O0
goboboo ogbbboooooobooo

e = (cosBy + isinf;)(cos by + isinbs)

= (cosfy - cosfy —sinb; - sinfby) + i(sin by - cos Oy + cos 6, - sin 05)
goooono
0102 — cos(0) + 6y) + i sin(0; + 6y)

0000000000000 (e%e® =2 000000
00o0oooooo

gobobog 3400b0bboooon
0 36[00 O00O0ODOOO)]DODOOnDOOO0OO
(e =™, (cos @ +isinf)" = cos(nb) + isin(nd)
goooon

00 0034000006, =6,=000000 (e)? = 00 —
00000000000 340000000

(ei9>3 _ <€i0)2 . ei& — ei296i9 — €i39

000000000000000000 00000 (e4)" = ¢n?
00000000000 (0000000000000000000
0000 3.700)0 8

48



000037 0OOOOOOOOO
(1) () l=e?D0000
(2)0 36000000

oz gbodgboagbobooo
O0D000 a=a+000
OO0-00b006e00OD0O0O
gbogboobooboo

« ggbbobuoodgbobbod

. [ a=a+ib=re? ]
1

00000000000
0 3.3 0000o0ooon

b

r=+va?+b = |q cosh = 2 sinf) = —

r r

oo ooodtuooboouououoboououoboouoa
ooood

o = ree”, 2z =re¥

gooog

gobbbuooodobobbbiooodib bbb rnbodo
oooobooooboaOOobobbozz00b00-00b0O0DOoD
OooooooDeOOoOoDOOOOODDOOODODODODOOOO

gooo

oz = roerret? = roret? 0

gbboobodbb0bodbe0boooboogaoon
ro 0000000000 XNODODOOODOO0O0ODO0O0 az0000
gbboboboobobuoobbuoobobuoobobobibddry =10
O00aez0 20 N0000000000000C0000D00DOO

00 |ol=r=1000 «z0 0000000 XNOOOODOO
000000000000:=€e"20004:0000000000

goo %DDDDDDDDDDDDD

49



1
U 33000 z=—

e}
U0000ez=1000

0 3400000000

1
1 0 —0000«0000
(8}

1 goboboobogogno

— gobuodgooboddn
o

00000
0 3.4 1_1 -
(07 To

gbgbdbbeboobod iDDDDDDDDDDzD alD
o

gbobbboooobbbiddebdoogbbboooobbbdan

gooooo
z re'? —Leiwﬂ)

a roet To

goboboood

ob 3.7 :0 0000000 2700000000000 az0
iDDDD ogb2r000000000O0O0DOO0OD0
o

000038 00000000000000O000 (30400

0,f0000000000000
T,
(1) a=2+2i Cngz%;+é_

3) s w2

10n00 Odooood nOogononO
Zt=1

000000002010 -,000000:"=100 |2/>0000
2/ =1000000000-00000000000100000
00000000z=¢00000000000000000

em@ — 1.

godgd
nh =2kr (k€Z)

o0



gbobbuooooodob z"=10000

<2m') 2r .. 2«
exp (| — = cOoS— +18ln —
n n n
<47m') 4 . 4w
exp (| — = cosS— +18In —
n n n
2(n —1)m 2(n—1 2(n—1
exp( (n )m) = CoS (n )W+zsm (n i
n
O
exp< 7rm) _
n
On0O0000
ogood 3.9

(1) 1040000000000 0O00O0O0OOODODOO
(2) 1030000000000 00000OOODOOO
(3) 10 6000000ODODOOODOOOUOOODODOO
(4) 1050000000000000000

51



